NOREEN MANAGERIAL ACCOUNTING FOR MANAGERS 2E
Practice Exam – Chapter 3
Print these pages. Answer each of the following questions, explaining your answers or showing your work, as appropriate, and then compare your solutions to those provided at the end of the practice exam.

1.
The following information has been provided by the Lund, Inc. for the third quarter of the year: 

	Sales
	$1,300,000

	Fixed cost of goods sold
	140,000

	Variable cost of goods sold
	480,000

	Fixed administrative expenses
	120,000

	Variable administrative expenses
	80,000

	Fixed selling expenses
	60,000

	Variable selling expense
	150,000


What was the company’s contribution margin for the quarter?

2.
Remington Company has provided the following data for the fourth quarter of the most recent year:
	Sales 
	$1,400,000

	Direct labor 
	   290,000

	Direct materials 
	196,000

	Variable manufacturing overhead 
	174,000

	Fixed selling expense 
	165,000

	Fixed administrative expense 
	188,000

	Variable administrative expense 
	192,000

	Fixed manufacturing overhead 
	62,000

	Variable selling expense 
	209,000


Assume that direct labor is a variable cost and that there were no beginning or ending inventories. What was the company’s total contribution margin for the quarter?
3.
An analysis of past janitorial costs indicates that janitorial cost is an average of $0.80 per machine-hour at an activity level of 80,000 machine-hours and $1.00 per machine-hour at an activity level of 64,000 machine-hours. Assuming that this activity is within the relevant range, what is the total expected janitorial cost if the activity level is 76,000 machine-hours? 

4.
The Burlington Company has recorded the following costs for factory utilities at various volumes of production:
	Production

Volume
	Total Factory

Utilities Costs

	600,000
	$700,000

	400,000
	  500,000

	200,000
	  300,000


Using a scattergraph plot, estimate the cost function for utilities costs.

5.

A company’s shipping expense is $22,000 for 2,000 pounds shipped and $29,500 for 3,500 pounds shipped. Assuming that this activity is within the relevant range, use the high-low method to determine the expected total shipping expense if the company ships 2,300 pounds.

NOREEN MANAGERIAL ACCOUNTING FOR MANAGERS 2E
Practice Exam – Chapter 3 Solutions
1.
Solution (Learning Objective 4):
The company’s contribution margin for the quarter would be determined as follows:

	Sales
	
	$1,300,000

	Variable expenses:
	
	

	    Variable selling expense
	$150,000
	

	    Variable cost of goods sold
	480,000
	

	    Variable administrative expenses
	    80,000
	

	Total variable expenses
	
	 710,000

	Contribution margin
	
	$590,000


2.
Solution (Learning Objective 4):

The company’s total contribution margin for the quarter would be determined as follows:

	Sales
	
	$1,400,000

	Variable expenses:
	
	

	    Direct labor
	$ 290,000
	

	    Direct materials
	196,000
	

	    Variable manufacturing overhead
	174,000
	

	Variable administrative expense 
	192,000
	

	    Variable selling expense
	  209,000
	

	Total variable expenses
	
	  1,061,000

	Contribution margin
	
	$   339,000


3.
Solution (Learning Objective 1):

Janitorial costs are fixed (rather than variable or mixed) in nature; that is, they total $64,000 at both 80,000 and 64,000 machine hours (MHs) as shown below.

	MHs 
	Average

Cost per 
MH
	Total
Cost

	80,000
	$0.80
	$64,000

	64,000
	$1.00
	$64,000



Accordingly, janitorial costs would be expected to be $64,000 at 76,000 machine hours (or at any other level of machine hours within the relevant range).

4.
Solution (Learning Objective 2):
(in thousands)
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Based on the scattergraph above, the fixed cost portion of utilities cost is equal to the intercept, $100,000. The variable cost portion appears to be $1 per unit (that is, for every 200,000 units costs increase $200,000, so variable costs appear to be $1 per unit).

5.
Solution (Learning Objective 3):
Using the high-low method, the company’s variable cost per unit for shipping costs can be calculated as follows:

Variable cost per unit = Change in costs ÷ Change in units

Variable cost per unit = ($29,500 – $22,000) ÷ (3,500 – 2,000)

Variable cost per unit = $7,500 ÷ 1,500 = $5.00 per pound shipped. 

Then, the company’s fixed shipping cost can be calculated as follows:

Total cost = Total variable cost + Total fixed cost or

Total fixed cost = Total cost – Total variable cost

Total fixed cost = $29,500 – (3,500 pounds x $5.00 per pound) 

Total fixed cost = $29,500 – $17,500 = $12,000
Finally, if the company ships 2,300 pounds, its total shipping cost can be estimated as follows:

Total cost = Total variable cost + Total fixed cost

Total cost = (2,300 pounds x $5.00 per pound) + $12,000

Total cost = $11,500 + $12,000 = $23,500
